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Note : There are three sections in the paper A, B and C.

i) G € g @@ 1 % @i 10 97 % IR 6T | TF 5T ¢ 3P 1
Gt 10 9777 TGHE FHR & 741 & 8 |

Answer all the 10 parts of the question No. 1 in section A. Each part carry
one mark and all 10 parts have objective type questions.

(iii) QT A F 8 yvt 7 @ ft 6 5o & IR e | Y% 5 3 3% H1 8 W
$7HT 5 A1ET/50 Yieg) § I e |

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) @7 @ &6 Fv 4 4 bl 4 yui & IR AT | TF Fo7 8 b HT 8 T
5797 15 @TET/150 5] 7 I G |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words. .

) T DT & G} Y 1 FHAR T G & Hiord |
Solve all the questions of a section consecutively together.
(vi) 27 sTaTs A s g1 @ et 7 FA siare & A 8 |

Only English version is valid in case of difference in both the languages.

JHH - T
SECTION - A
1. @) fereen e, HIgel o foraA 3 fera s i St 2 |
(a) TS (b) T
(c) w ) i
___ system call is used for writing to a file.
(a) Read (b) Write
(¢) Close (d) Seek

(10f 4) P.T.O.



CS/IT4001

(ii)

(iii)

(iv)

)

(vi)

(vii)

(2 0of 4) 1314
o @ =i gy, Wi gfe g s S ® 7
(a) TIPS TZH (b) Teforper ugH
(c) FHgHE UgH (d) = & HIE
Which of the following address is seen by memory unit ?
(a) Logical address (b) Physical address
(¢) Instruction address (d) None of these
S i B T Sfeve o trafies ey afeq Biar @ ¢
(a) fomies= (b) ufsm
(c) fomicem fog ufsm (d) IH | | HIS T
In which of memory allocation techniques internal fragmentation occur ?
(a) Segmentation (b) Paging

(c) Segmentation with paging (d) None of the above

H H SERE el sarerat TR faren # wam fa smar 2 2
(a) RiTe oad SRR WEFR (b) g odel SHE e

(c) ot oot SRR e (d) T aTsfaTs dae SRR HF

Which directory implementation is used in most operating systems ?
(a) Single level directory structure

(b) Two level directory structure

(¢) Three level directory structure

(d) A cyclic level directory structure

shl T AesHe % Aore §, Yk s (56 & ftode wm  fFfdg w2 |

(a) Tees= (b) === hI e

(c) s=faam (d) hi AT foree

In method on free space management each block is assigned in reserved
portion of the disk.

(a) Bittable (b) Chained free portion

(¢) Indexing (d) Free block list

fexan 3t gro ot 3fsa faeivet as ad= @ forn e wme e 2
(a) s ZEs (b) 1UEH UFEd TR

(c) Hrh2gH (d) 39U H | HIS TE

The time taken to move the disk arm to the desired cylinder is called
(a) Positioning time (b) Random access time

(¢) Seek time (d) None of these

o o & 9 o1 el oy gt e R ? 7

(a) H=HE (b) TEm

(c) e (d) UEas

Which of the following is the least secure method of authentication ?
(a) Key card (b) Finger proof

(¢) Retina pattern (d) Password
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(ix)

1314

(viii) et # areafee T & 9 Aurd 2 2

(@ W (b) W

¢ fe= (d) ag3re Aad

A memory that is larger than the Real memory of computer system is

(a RAM (b) ROM

(c) Disk (@ Virtual memory

wREe faae R 3 et e fawen e & SeE # |

(a) ToeEfme wEa (b) seaus faagEiEe wEd

(c) FoH BIsA (d) IRHH A PR T

Airline reservation systems and inventory control systems are the example of
system.

(a) Sequential file (b) Indexed sequential file
(¢) Index file (d) None of the above
(x) Fi A § AR A U asAre g wifae AR @l e fafeaa
| 3R AT A are fem S 2 |
(@) T (b)
(c) AT (d) Terey

In memory management, a technique called as paging, physical memory is broken
into fixed sized block called

(a) Pages (b) Frames
(¢) Blocks (d) Segments (1x10)
Fee — &
SECTION - B e
e 2 7w g o areft fafiv fRanai i wd | awes |
What is Kernel 2 Explain various operations performed by Kernel in brief. 3)
waft g @ 7 Gférs § gwssT |
What is swapping ? Explain in brief. (3)
fepiiee o @y fafae |
Write advantage of segmentation. (3)
o ot o ., w3, Srggfer w2 ¢ wfr H EHEE |
What is FCFS CPU scheduling ? Explain in brief. 3)
ferdfirre veeE g & o fafe |
Write advantage of sequential access file. 3)
RAID 1 31 &1 8 7 H& # §Hesy |
What is meant by RAID ? Explain in brief. 3)
Look feeas Srggfei weiftam & ant # wftw # wsse |
Explain LOOK disk scheduling algorithm in brief. 3)
9. AT HIA #1 R 7 HikH H EHST |
What is access control ? Explain in brief. 3)

P.T.O.
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o - ot
SECTION - C _
fren ymm a2 2 ratfen frem o wam 21 are fafi= ver 3 faeen s & w6
318 Higa gueEsu |

What is system program ? Explain various types of system programs used in operating
system with example. 8)

()  T3ve Ufew srggfem w1 2 rafem & wazmgu |
(i) v fafer Bfehve T o a1 areft S % v w R

Ty &% 215w
P, 20 ms
. 8 3ms
P 4 ms

3
afe &9 2w weien 4 fufer fvoe wdra =t a1 s Srggfein @ sia A 2dn s =5 |
(i)  What is Round Robin scheduling ? Explain in brief.

(i1)  Consider the following set of process that arrives at time 0 milli second.

Process Burst time
20 ms
P, 3ms
P, 4 ms
If we use time quantum of 4 ms then calculate the average waiting time using RR
scheduling. (4+4)
afSim @ 2 7 foam & TwEsu |
What is Paging ? Explain in detail. (8)

W oY fow smefiiee a2 ? fae i 3k o giter a1t s o =i a0 =1
foream & gz |

What is free space disk implementation ? Explain bit map and link together all the free
disk block methods in detail. (8)

ﬁﬂﬁnﬁmﬁméﬁ\amww% ? ffoerer aiv wifveer vatm @it &1
faan @ gwsmeu |

What is meant by access control in operating system ? Explain physical and logical
types of access control in detail. (8)

(i)  SSTF few= Srggferm %t awzmeu |

(ii) @%@sﬁoﬁwgwaﬁwﬁ;ﬁmma%sézmomé|2$%s%qmwﬁa%e
F=mam s 3 2 - 80, 102, 26, 160, 35, 10, 135 | & SSTF TeTifterm &1 35
foat e 2, @ ot ofd ey T @ 2

(i) Explain SSTF disk scheduling.

(i) A disk has tracks from 0 to 179. Currently the head is at track 40, the R/W

requests for tracks are in the following order — 80, 102, 26, 160, 35, 10, 135.
What is the total head movement when SSTF algorithm is used ? (4+4)




